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1. How many solutions does 
2 2

4 3

9 3 9

x

x x x
 

  
 have? 

 
(A)  0          (B)  1          (C)  2          (D)  3          (E)  4 

 
 
Correct Answer:  (A) 
Answer Distribution:  (A) 12.2%    (B) 34.8%    (C) 36.5%    (D) 9.6%    (E) 6.1%    (Other) 0.9%   
 
Solution:   
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2. Simplify 
2 2

1 1

a b

a b

 

 




. 

 

(A)  
1

a b
          (B)  a b           (C)  

ab

a b
          (D)  

b a

ab


          (E)  none of these 

 
Correct Answer:  (D) 
Answer Distribution:  (A) 49.6%    (B) 18.3%    (C) 6.1%    (D) 3.5%    (E) 22.6%    (Other) 0.0%   
 
Solution:   
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3. How many solutions does    3 3log 2 log 4 2x x     have? 

 
(A)  0          (B)  1          (C)  2          (D)  3          (E)  4 

 
Correct Answer:  (B) 
Answer Distribution:  (A) 3.5%    (B) 33.9%    (C) 46.1%    (D) 11.3%    (E) 4.3%    (Other) 0.9%   
 
Solution:   
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4. Simplify 
 

1 1

1

y x

xy

 




. 

 

(A)  x y           (B)  
x y

xy


          (C)  

xy

x y
          (D)  –1          (E)  x y  

 
Correct Answer:  (A) 
Answer Distribution:  (A) 12.2%    (B) 13.9%    (C) 60.9%    (D) 6.1%    (E) 3.5%    (Other) 3.5%   
 
Solution:   
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5. Simplify:     3
a b a

b a b
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Correct Answer:  (D) 
Answer Distribution:  (A) 13.9%    (B) 44.3%    (C) 23.4%    (D) 7.0%    (E) 7.8%    (Other) 3.5%   
 
Solution:   
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